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Notes 
Measures of Effect and Precision: an Introduction
Measures of Effect
Absolute measures of effect
· Absolute risk reduction (ARR): the difference in absolut risk between groups
· [bookmark: _GoBack]Number needed to treat (NTT): the number of patients that need to be treated to prevent one outcome (can be calculated as 1/ARR or 100/ARR%)
Relative measures
· Relative risk (RR): the relative change of risk to experience the outcome between the two groups (usually intervention and control)
· Relative risk reduction: the reduction in risk from administering the intervention (compared to control), can be calculated as 1-RR
· [image: ]Odds ratio (OR): the relative change of odds to experience the outcome between the two groups (usually intervention and control)
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Measures of Precision

P-value
· Probability of observing a difference by chance alone

Confidence interval
· When using a 95% confidence interval, we can be 95% confident that the true effect lies within the given interval (in the absence of bias).
[image: https://www.thebottomline.org.uk/wp-content/uploads/2017/04/Explaining-P-values_Composite-with-labels.png]
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The risk difference (also called the absolute risk reduction) is the simple difference in the event
rates (for trial 1, 40% — 30% = 10%).

Relative risk reduction is the difference between the event rates in relative terms. In both trials,
the event rate in the treatment group is 25% less than the event rate in the control group (i.e., the
10% risk difference in trial 1 expressed as a proportion of the control rate is 10/40 or

25% less).
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2Also known as the absolute risk reduction.
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If the null hypothesis is true, what would be observed

if we could repeat the study many times?
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